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LeakyRelu(0.01), Predicted Hit Probability
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LeakyRelu(0.01), Predicted Charge
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LeakyRelu(0.01), Expected mean charge (Predicted
Charge X Predicted Hit Probability
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LeakyRelu(0.01), Predicted Variance of Charge
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Comparison with FC1 30 Node, Train
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Comparison with FC1 30 Node, Test
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LeakyRelu(0.1), Predicted Hit Probability
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LeakyRelu(0.1), Predicted Charge
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LeakyRelu(0.1), Expected mean charge (Predicted
Charge X Predicted Hit Probabillity
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Comparison with FC1 50 Node, Test
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LeakyRelu(0.5), Predicted Hit Probability
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LeakyRelu(0.5), Predicted Charge
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LeakyRelu(0.5), Expected mean charge (Predicted

Charge X Predicted Hit Probability)
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LeakyRelu(0.5), Predicted Variance of Charge
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Comparison with FC1 50 Node, Test
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LeakyRelu(0.02), Predicted Hit Probability
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LeakyRelu(0.02), Predicted Charge
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LeakyRelu(0.02), Expected mean charge (Predicted

Charge X Predicted Hit Probability
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LeakyRelu(0.02), Predicted Variance of Charge
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LeakyRelu(0.03), Predicted Hit Probability
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LeakyRelu(0.03), Predicted Charge
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LeakyRelu(0.03), Expected mean charge (Predicted
Charge X Predicted Hit Probabillity
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LeakyRelu(0.03), Predicted Variance of Charge
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LeakyRelu(-0.01), Predicted Hit Probability
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LeakyRelu(-0.01), Predicted Charge
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LeakyRelu(-0.01), Expected mean charge (Predicted
Charge X Predicted Hit Probabillity
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LeakyRelu(-0.01), Predicted Variance of Charge
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Node = 50, LeakyRelu(0.01), NoBatchNorm1D
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LeakyRelu(0.01), Predicted Hit Probability,
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LeakyRelu(0.01), Predicted Charge, NoBatchNorm1D
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LeakyRelu(0.01), Expected mean charge (Predicted
Charge X Predicted Hit Probability), NoBatchNorm1D
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eakyRelu(0.01), Predicted Variance of Charge,NoBatchNorm1D

y E=200.0 MeV ¢=1.57

25 e E=200.0 MeV ¢=1.57 25 p E=200.0 MeV ¢=1.57 25

20 20 20

15 15 15

10 10 10

- 5 5
o 20 40 60 80 100 120 140 160 o 20 40 60 80 100 120 140 160

y E=500.0 MeV ¢=2.21 25 25 1 E=500.0 MeV ¢=2.21 25
20 20
15 15
10 10
5 5
L 20 40 6 80 100 120 140 160 o 20 40 60 80 100 120 140 160

0 60 80 100 0

y E=700.0 MeV ¢=2.94 - e E=700.0 MeV ¢=2.94 25 1 E=700.0 MeV ¢=2.94
20 20
15 15
10 10
5 5
o 20 40 60 80 100 120 140 160 o 20 40 60 80 100 120 140 160

o




Withour BatchNorm1D

Loss

18 -

16 A

14 A

12 A

10 -

0.8

0.6 -

o4 4

— T r@IN
Test

N—

0.0 02 o4 0.6 0.8 10
Epoch




With BatchNorm1d

Loss

18 4

16 4

14 -

12 4

10 4

0.8 1

0.6 -

0.4 -

‘ — Train
Test

0.0 0.2 0.4 0.6 0.8 10
Epoch







